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One; if you grab much, you did not grab

Overview

774 ' maintains that the 7p1v must be worth thirty 2°¥%0. He derives this through
a w"m of m1°n1 nrna from 72v.! However, 1wnw " maintains that 7p1v57 must be fifty
o'>pw and he derives it through a w"1 of 73901 72901 from P27w.2 The X3 asks, why
does not >" derive pavn from 1°37¥ (so it should be fifty 0°%pw) instead of deriving
it from 72y (where it is only thirty o°9pw). The X nx answers; firstly there is a rule
that if there are two choices, one more and one less, choose the lesser, for nwsn
Tnwon RS 72177, but anwon vyn anwsn. Our ModIN analyzes this answer.

MmooIn asks;
- 11299197 19 99999 15 N 47993 TUN 229097 112 D

It is astounding! Since it is written by 72177 that you should give the ¥"v from that
‘which "7 blessed you’, we should have derived the amount of 7p1vn from the

greater one (from 1°>7¥), but not from the lesser one (of 72v) -
= 57593 AUN NP 9N YN NN NDIYN DPYI DP9 4999 75999 DIYY 9INTH

As the X713 stated previously, when it asked (on 7°X» "), ‘and let us derive 2P
aps from 7987 n9w (so there will be no minimum for 7piw7)’, and the X7

answered, ‘the verse states 7993 9WN; indicating that it should be more, something
substantial (therefore we must derive it from 7132 179 that it should be five o°¥%0).

N150IN answers:
- PN NP AR DT 1N RN 52N NY 95991 3T K97 1119 U

And one can say that this case is not similar to the previous case of n"9; for
previously there is only one ap>n written regarding both 2122 and 7°87 n9w,

' By npavn the 7m0 writes (in 7°,00 [R7] 2°727) 12 100 131 7972 WX "3 p2avn pava, and regarding an *2v1d 72y who was
killed by a PR > > @ the 77N writes (in 22,80 [2°0own] MAY) "2 100 2°HPW DWW 700 "3 MW 1R 72V DX,

2 It says nn1 by pavn (see footnote # 1) and it says N3 by 727w (in 33,13 [*NPn2] X3P7) "31 797wa NR 101, The 7w
for an adult male is fifty 2°%pw.

3 See footnote # 1.

4 See WK "7 *"wn who writes, Bynh &9 M27% XPRT WY Y5,

5 We see from the X3 that when we are faced with two choices by 1p1vi (a lesser amount and a greater amount), we
chooses the greater amount on account of 7972 WX, and we ignore the dictum of 7nwsn X7 72179 nnwan; why here by
*"9, it is the opposite, where we ignore the 7572 WK (the greater amount) and we assume 7nwsN R? 7217 7nwan (the
lesser amount)?!

 The 770 writes (in 3,77 [RwN] NW) that ap>7 °10 XY X1 7790 P12 22 92, The ap™ can be utilized either for M2
(and require five 0°v90 for npavn) or it can refer to 7°X1 N7 (where there is no minimum for 7Pv).
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therefore -
= 79932 YUN DIVM NN 119 991Y 1Y NN

We should derive 77177 from the greater amount because of 7292 WK -
= 1999 %2) 4N 7aY 2) 2915 NN 1H XN YaN

However here by >"1 there are two 2’2109 of 71°n1 one 772901 is written by 72y, and

one 71°N1 is written by 1929y, -
- 1999¥ 19917 NIV INP 7993 TUNRT 92)Y PPN

And in such a situation we do not say that 7292 9w refers to the greater amount
which is 29 -

—7HYaN LN NYINT DIVN TayN 110 Y10 DN
If it is logical to derive 721y from 7av, because nwsn wYM NWHN.

mooIN proves his point:®

- 1055932 MINDM 9953 XY SPIONY 7992 TUN 2371 TPaun o9 ¥ XNT ¥
And you know that this is so, for when we (wanted to) derive from 959y
(according to °""7), the 7992 "wR is effective to exclude that we do not derive 7p1v77

from the least valued of the P29y -
$7292 FYUN RIP 99N VNI P29¥av mMNan ‘15’)1 72021 729992

As the X713 shortly asks, ‘and let us derive 771077 from the least valued of the
129y°, and the X3 answers, ‘the verse said; 9992 “wN.

Summary
7972 WK is more applicable to decide how to interpret a single 71°%, and 712177 nwsan

31 is more appropriate to decide which one of two separate 2°71°% should be
utilized.

7 moo1n distinguishes between the two cases of 21 and >"1. By »"A there is only one 77°2 of op>, the question is how
to expound this one 7% (either from 7192 or X1 2w [in this same P02 of op™1]). In such a limited question we
follow the guideline of 7572 7w to increase the amount and ignore the dictum of 121 7217 nwon. However in the case
of *" we have the option of deriving P17 from two separate 2°p100 (either 72¥ or 1°27¥) where 71°n1 is written by both
of them. In such a broad question we follow the dictum of 121 7217 nwsn, but not the 7372 WwX; 2"v¥1! See 7wn nona.
8 mpoIn may be out to prove two things; firstly instead of giving the answer m901n gives, we could answer that >
argues on the whole concept that 7572 7wX indicates the greater amount. m0In will prove that >3 also follows the
7972 7wk like 2", Secondly minoin will prove that 7372 7w is effective (only) if there is one 7.

® When the X723 asked that "1 should derive fpayn from P27 it meant that the pavn should be worth fifty o°v%o; but
perhaps "2 would argue that even if we derive from 127, it would only be 1°>7v2aw nns (since 131 7217 Nwon); what
therefore is the s'&3 question. This proves that the X3 knew that in one 772 (of P>7v) we utilize the 7572 WX to
derive the largest amount (even though that when it comes to two 2°7%°? we may say "1 7211 nwan). This proves
that >" agrees to 7972 WX (when it is limited to one T»°?).

19 There is an 77 of three a°y20 for a female five years or younger.
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Thinking it over

Why did not m»oin answer that when there is a choice between five 0°¥%0 and ‘no
minimum’ (¥"2), the we follow the 7272 "WX to teach us that it cannot be ‘no
minimum’, but rather it needs to be something substantial. However, when there is
a choice between thirty 0°¥%0 and fifty o°v?0, since they are both substantial amounts,
we cannot utilize the 7572 7WX to teach us that it must be the greater amount?!!!

11'See X"awn:T w7,
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